Respostas de problemas selecionados

1317 4= (13 wL)32 15 B, = (17 wL)/16 1;
C,=(33wL)32 1

1319 4, =200 KN « 4,= 57,03 kN 1;
M,=8203kN-m;D,=9297kN

13.21 4,=33,33 kN —; 4,= 168 kKN 1;

C,=41,61 KN —; C,= 81,25 kN 1

13.23 4,=0;4,=8,23 kN |; M, =675,8 kN - m 2;
B,=9823 kN1

13.25 4,= 150 KN «; 4,= 0; M, = 267,9 kN - m ;
B,=10,71kN |; D,= 10,71 kKN 1

13.27 4, =50KN .4 =58 5kN 1; C,=2074 KN 1;
D,=34kN 1

1320 4 =2,7kN ;4 =20KN |; B, = 57,3 kN —;
B,=100kN 7

13.35¢13.60 F,.= 119,8 kN (C); F,, = 130,2 kKN (T);
F,=162,5kN (T); F,, = 170.8 kKN (C)

13.37 4 =928 kKN 13 M,= 1143 kN -m J; B=228, 6 kN ;
C =786 kN1 '

13.39 4,=291 kN 1;C = 138,7KN ; £, = 171 KN {;

G =512kN 1 ’

1341 4 =G =1ISKN 1;B,=F, =315 kN 1;
D,=240kN } '

1343 4, =60 kN —; 4, = 136,5kN 1; E, = 40 kN —;
E,=1235kN1; M, = 1224kN -m D

1345 4,=21,45 kN —; 4,= 11625kN 1;
M,=107,9KN -m J; B, = 78,55 kN «<; B, = 183,75 kN 1;
M,=222,75kN -m

1347 4,=51,87kN —; 4 =6945kKN 1;C =30,55kN 1;
D, =51.87kN «; F, = 54 kN (T) i

13.49 4 = 179,5KN 1; M, =955,5 KN - m 9,
D,=19,5kN |

1351 4= 133,6KN1;B,=177KN 1;C =894 KN 1
1353 4,= 1652 kN 15 M, = 4494 kN - m O;

B,=1258 kN 1;C,=109kN |

1355 F,,=F, =3734 kN (C); F,, = F,, = 46,67 kN (T)
1357 F,, = 13,5kN (C); F,, = F,. = 42,78 kKN (T);
Fp=60,5 kN (T)

1361 T=35,58 kN (T)

Capitulo 14

141e14.2 Ay: 1 em4; 0,688 em B; 0 em C
M:0emAdeC;225emB

Cy: 0Oem4;0313emB; 1em C

Sy 0emAeC;—0313 em B;; 0,687 em B,
My 0emAdeC; 1,875 em B

715

143 Cy: Oem4;0,633emB; lem C; 1.375em D
S, 0em A e C;—0,633 em B : 0367 em B,;: — 0375 em D
M 0emA4eC; 3,164 em B; 3,125 em D

145 Ay: lem4;0emBeD;—0,167em C

Bv: OemAdeD;1emB; 0,944 em C

DJ,: OemAeB;0,222em C; 1 em D
S.:0emd,BeD;—-0222em C;;0,778 em C,
M,:0em4,BeD;2222em C

147 A)_: lemA4;0,479em B;0em Ce D
Cy: OemAeD;0,563em B; 1 em C

D): OemAdeC;-0,042em B; 1 em D
F,:0emd,CeD; 0,359 em B
F:0emd, CeD;-0,652em B
F,:0em4,CeD;0,032em B

149 F,:0em C; 0,833 em D; 0,938 em E
F,:0em C; 0,667 em D; 1,917 em E

14.11 By: 1,643em4;1emB;0,393em C;0em DeE;
—0,054emx=5m

Dj_: -0,857em4; 0 em Be E; 0,767 em C; 1 em D; 0,447
emx=5m

S(.: 0,643 em 4; 0em B, D e E; — 0,607 em CL; 0,393 em CR;
—-0,054emx=5m

M, -1,79 em 4; 0 em B, D e E; 1,97 em C; - 0,27 em
x=5m

1413 Cy: OemAdeD;0,582emB; 1emC
F,:0em4, CeD;0,11 em B
F:0em4,CeD;-0252em B
F,:0em4, CeD;-0,203 em B

Capitulos 15e 16

15.1€16.1 M, = 50,6 KN -m J; M, = 58,8 kN -m 2,
M, =588 kN -m )} M, =269 kN -m 2

15.3€16.3 M, = 100 kN - m 9; M,, =200 kKN - m 2:

M, =200 KN - m O; M, =500 kN -m D

155 165 M, = M_,= 0; M,, = 495kN -m 2;

M, =495kN -m D

15.7€16.7 M,, =449 kN -m J; M,, =72,5kN -m 2

M, =-72,5KN -m D; M, =0

159169 M, =103,5kN-m J; M,, = 113kN-m 3:
M,,=113KN-m J; M, =85KkN - m :

M, =85KN-m J; M, =47,5kN -m D

15.11¢16.11 M,, = 67,5 kN -m D:
M,,=122,1 kN -m J; M, = 122.1 kN
T4KkN- m D
15.13€16.13 M, = M, =0: ]
My, =M, =5T,9 kN -m J; M_,
38,6 kN -m D



